
Nudge Bar 

Fitting Instructions 

Tribeca 06- 
 

 

1/ Remove original plastic bumper cover. 

2/ Remove 3 outer  M8 bolts from reinforcement bar and discard. 

3/ Enlarge 4 holes indicated in photo to 8mm. and fit M8 x 75mm bolts 

 through  both holes with threads facing outboard. 

 

 

 

 

 

 

 

 

 

 

4/ Place the lug on the powdercoated mounting brackets over the bolts first 

 and fasten to car with 3 M8 x 30mm bolts supplied. 

5/ Tighten lug nuts first then remainder. 

6/ Replace plastic bumper cover taking care not to scratch any painted parts.  

7/ Attach  pipework to protruding brackets with 4 x M12 bolts, check for fit 

 and tighten.  

 

    Re-drill to 8mm 

Remove 

Components. 
1 Aluminium bar 

2 Mounting brackets 

1 Fitting instructions 

4 M12 bolts 

2 M12 nyloc nuts 

4 M12 washers 

2 M8 x 75mm bolts 

6 M8 x 30 bolts  
8 M8 washers 

2 M8 nuts  

4 M6 x 25mm bolts 

4 M6 washers 

4 M6 nuts LHS with bracket fitted 


